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1.Which of the following processes CANNOT be performed by a partner?  

A. Carrier On-Boarding  

B. EDI Map Testing and Certification  

C. Level One Support  

D. New ‘Organization’Creation  

Answer: D  

 

2.What is the most common ERP/Order Management platform that IBM TMS (Transportation 

Management System) platform interfaces with.?  

A. Manhattan  

B. AS400  

C. SAP  

D. Oracle  

Answer: C   

 

3.Which of the following is NOT one of the four core functional quadrants of the TMS (Transportation 

Management System) solution?  

A. Optimizer  

B. Execution  

C. Contract Management  

D. Freight Payment  

Answer: C  

 

4.Which of the following documents CANNOT be generated in the IBM TMS (Transportation Management 

System)?  

A. Shipment Manifest  

B. Export Declaration  

C. Master Bill of Lading  

D. Custom LTL Manifest  

Answer: A  

 

5.Which of the following is NOT a capability of the IBM WMS (Warehouse Management System) 

Productivity Manager?  

A. Automatic recording of productivity based on tasks performed.  

B. Manual recording of productivity for tasks executed outside.  

C. Pick-Pack Capabilities  

D. Dynamic computation of SAM (Standard Allowable Minutes) based on historical task information.  

Answer: D  

 


